Wod duIjuonejuI Mmm //:sdy

https://www.rmlauonline.com

{ olt "o (i Flgures) 7 DMR Anzwar Shoee MNa.

11
L e __l 698 Bogkie!, h.'tl

B.Sc. (Part-I) Examination, 2018

I — .

I Bookiat Code L ELECTRONICS

| R Paper: I

L ’ (Analog Electronics)
—_ |

Time - Thwer Howurs /

—— —
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Important Note ; “lras0 re2g astrucliors carefyl v printed on (he basik of OmM
werl ¥ ol v g e Y A0 IR trryder 74

2 sheat,

Note : Attempt all Questions. Each A« R 0= Pl Y oo uTT B g
question cames equal macks. qHl= T
1. The constant current reglon of & 1. tEIFeT e Prageare s - - Y
JFET les between - -cemee, 1o qzen .}
) T e
(A) Cut-off and saturation (A) T2-37F crat Fg
(B) Cut-off arnd pinch-off (B) o7-3m am ﬁ:-Tl “h
(C) O and | . (Cy $n 3 Il:—"-
(D) Pinch-off and breardowir (D) A 50 €54

What is the knea voltegoe 1V ) for 2. Wit gams X bm ARy (V) @
. W= 0 H an 2 €0
silicon dipde ir the tullcwing?

-
0L

(& p]

{A) 0.5 voitcs Ve

”1) 'JF .‘I'nlr'. (B\ l} f:; Tf"f"_'.

{C) 0.5 Volts (C) 2z &
(D) 0.7 Vo'ts (D) v7 47
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3. A power supply which ms.as-‘.hfl:- s

Qe reguiatian of —s---e-e e A UN-
fﬁaﬂlﬂtEd power supply.
(A) 0%
(8) 0.5%
(€Y 10%
{2) 0.8%
Two simifar 15 V zeners are ton-
nected i Series, What is the regu-
fated autput vo'tage?
(A) 15 Vv
ey 725v
€ 30w
(D) 45 V
The dimension of h_ parameter are
{A) Mho
(B} Ohm
{C) Farad
{D) None of the zbove
Which type of reguiator is ronsid-

ered mure efficient?

“(A) Switching regulator

(B) Special requlator
{C) Fixed cutput regulator
{D} All the above

G9B\R

i
."_ .
N <.g-h
i P = 2
h arl

[€) 108 i
(D) DA% :

(D) TrrE ¥ T )
el e T YRTT T TR E

(#) ratem W

(B) rwa TR

(C) M ameyz TdeR
(D) Juims &+
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7. Inalincar IC voltage regulator, se-
ries pase fransistor 3lways oper-
dles i - o< rogign,

(A) Active
(B) Sotuation
(C) Cut-ofr
(D) AN of the above
& The line énd loed reguiation of 10
723 1s:
{A) 10%
(8) 5%
(C) 3%
(D) 0.03%
9. In CMOS legic crcuit, the n-MOS
Wansistor acts as -eoamo .o
(A) Load
{8, Pull up netyenik
(C) 7ull dawre network
(D) Not gsvd in CMOS cireuits
10, Electra-optical offes) < educed in

(A, LED
(B) LCD
Cy QFC

(D) Marc of these

698\R
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31

. aﬁd

1 'Anmiw ""

(A} 10%

(B) 5%

(€Y 3%

{D) 0.03%

CMOS =7k ey n—lﬂlﬂs
e A R S W h

(A) W

(B) 7 30 JTa

(C) 1 3 exd

(D) CMOS oftwy ¥ ey #\‘!\?ﬂli‘ #‘_

Y m |

fozr e &1 '

() TEE

8) = H S

(C) 3 ow =t

(0) gt 7 B &




1i, The readom 1mutien -of.'hn!'ﬁ--ﬂrﬁ
free electrans due to thermal
agitelicn 's cailed —---~
(&) Biftusion
(8) Pressu=mn
{C) lonisaticn
(0} None of the shove
12, Tha impunty fovel in an extrinsic
semiconductor s aogut ~---- - of
pure semiconductor.
(A) 10 atems for 2107 atems
{B) 1 atem for 10% atoms
(Ch 1 atom for 108 atoms
(12} 1 stom for 100 atorme
13. The resistivity of pure Ge ynder
standard conditions ‘s about-
{A) 8x10% Q-cm
(B} 3x1C% (rerm

WO duIfuUONBjWI MaMm //:sdny

{(C} 61077 ¢1-¢im
() 60 Cr-em
14. What is the riznge of operat ng volt-
age of CMOS?
fA) 3Vito 15y
{8) -3Vto15vV
(C) OVio 10V
(D) ~10vto 15y

698\R
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(D) 1wmﬁ1m

SRR m A & B
{A) 6x10% 309
(B} 3x10%3tq-3R
(C) 6x107* 3ia-&W
(D) 606 3wy

. cmosa?esi-‘ﬁﬁumm;i:“ i

&?

(A) 3Vio15V
(B} -3 Vo115
(C) DVio 1OV
(D} =10 Vito -15 v
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15. V¥/nien ore tha thrro ter tminals in the
TRIAC In the follaving?
{A) MT-1, MT-2, And Gate
{B) Source, drain And Gate
(C) Anude, Cathode, Gate
(D) Emitte:, Base, Collector
16. Inthe given cirevit using silicon: tran-
sistor with {1=100. Determine up-
etating point:
A¥pr =g

s ¥ le
'b Py, o=y &

P9 e
I . B
(A) 15, 2 iy © (A) (SV,2may T
(B) 16 ¥, 1 ma) (8) 6V, 1 ma)
(C) 4y 1 a €Y (4v, 14) :
(D] (Bv, 14 (©) (8Y, 1 4) e
oborshe crclit shovs e figuee o0 17, s @ By 5 R Pk e
UL OLTDUT vOtage. mE &%IFI o "
il Srf |
r___nf:-,r-—u._.
- i R$ S
W, i fpolek A T T S
120y 50 2y rNsey Ruzloks 2
i
(A) 50 v
(A
(B) 70 v :B; :g: .
(€} 120V (C) 120 v
(D} 100y (D) 100 v
698\R
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18. How many types of mulbpliers
{woltage)?
{A) Three
{B] Four
{C) Gne
0] Two
19, How many types of clampers:
(A} Twa
(B) Three
{C) Four
(D} Five
20, The biasing method which s con-
sidered indepondent of transistor
Py-is?
(A4) Fixed biasing
{B) Collector leedback bias
{C) Vuitage divider bios
(D) Mene
21. The self bias arrangemaent gives an
improved Q-point stability when:
{R) R, is low
(B} [ issmall, but P, is large
{C) Beth p and R, is large
(D) None
69B\R
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19.

20.

21.

.....

Wﬂ?g?ﬁﬁa; #
(A) =T aOw

(8) ®reed Toade aow
(C) dietz oy amg

(D) 31 5 s
G amr TR Q-fawg B R
T 547 £ T
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22, if ina tansidor (Icly, # i, the
transistor is 'n: -
(A} Cutoff
(B) Seruration
(C) Amplfication srare
(D} Nore
23, Iftre emiller base junction 2 dgen,
the value of collector voltage 15:
(AY UV
(B) 0.2V
(C) Faating
(0) v.

24. An FET cannot operate at vV, =0V

the FET is:

(A) JFET

{B) D-MOSFET

ICY) =-MOSFET

(D) Buth (A) and (B)

25. What is the phase Difference be-
tween input, Sutput of common
hase moce In transistor?

[4) 180°
(¢) 207
{C) 30"
{D) o

698\R
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(B} 0.2 N ,_-_j : atg |
(C) wmife '
(D) V.

FET =x-vnnm 2
(A) JFET

(8) D-MOSFET
(C) E-MOSFET
(D) (A} 3 (B) &I

i re

25. dﬂh(ca}#ﬁ;m: 3

7 s ¥ Aon e
(A) 180°
By @°

(€) 20" o
(D) ¢ '
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6. The magnilude of tha surrent 5.

S53Cree in the ac cuuivalent Grouit
of an FET deoends an:

(A) Tre DC supp'y valtage
CHAN
(C) External dram resintanos

(D) Al of the ahoun

27. In a p-channal JIFET 27,

(A) The current carriers are holes
'B) The currert carrers are ¢lec
t-ons

(C) V. is

(D) Mone cf these

28. lhe
urhity it ‘s o

VA

(B)
(C) Cor
(D) None

necAtivie
-

maximum current gain of anis 24
Common base

Caommon collecter

sman ermitter amplifior

https://www.rmlauonline.com

25, Figure show the crrcuit of series - 29,
ode configuratiar. Finz the value ¢
[, \-’F‘.', VR, and W
O T8 als
M\ﬂl-—--—M._ T" ¥
L, J.’f o
~[_ |"'-’ {,- L A “_t'T r‘;
(A 2.38 A, Y52 Voits, 479
*-0.2‘3 \c'
(‘B:‘ )‘;‘:) “"'I 9‘52 .h‘.l J.{" ..."f 'szq .'.Ir
(C) 2A, B 52 V. 35y -24vy
(D) 2.I8BA EV 45 vV, 12.76 V
698\R (8}

el WA B WAL, TR €T (R
FET Qitcy ¥ P o &

(A DC v N

(8] V.

() & 34 Wedumn

D) I @l

p-itdet IFET 3 85 +

(A) ue FRad Qe g3

B) a7 TR HEgHA

(C) V. FOT=H 2w 8

D) FHADDE I

YA O T OF AT 2, TRk S
(A) mine A

(8) T delees

(C) B ofeT mar

0} B el

o zof 2, oy 7 AN s e
a7 EA £, AW H L, VR, VR, W
i e | o e

4..' Bimbs

f A —P—— Yo
4, ‘1 X LA
1' v 1° =3 T"'l_t

AL 208 mA, 9.52 volts, 4.76 v,

-0.28 v
(B) 1.35A,9.52V, 3.6V, 0.24 ¥
(C) 2A,852V,35V, -2.4V

(D) 2384, 6V, 4.5Y 1276V
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20, Calzulate '-."H:And I‘.

ing Fgure:

I

—
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for the Follow- 30, iz d v gar L, e BAE]

(A} 7.512 Yolts, 6.26 mA

‘) 7.512 Volts, 6.26 mA

(8) 625 Wolls, 2 A

(CY 5 volts, 2.5 mA (C) 5 Volts, 2.5 mA

(O} 5.5 Volts, 6,26

31. A haf-wave rectifier circuit with a 31, o ardorn feoom® oftoe o T

frznsforeser coupled input, find cut W':'lﬁ?"’? DC.AZTaAT
the valye of d.o. Ioad current: ™ T B
An Vg

'Mfd.u

,5'30\' ‘

'll Mg = : .

(A .70 mA
(B) 1.5 mA
(C) 0.508 mA

(O) 0.2%0 mA

(B) 6.25 Voits, 2 A

mA (O; 5.5 vVo'ts, 6,26 mA

WO dUI[UONe[WI MMM //:sdny

(A) D70 mA

(B} 1.5 mA
(C1 0.508 mA
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{A) Full wave voitage doubier
{B} Half wave vaftage doubler
1C) Bridge Rectifler
() None of these

33. A crcwl shows:

LY

{A) Full wave voltage doubler :
{B) Half wave voltage doubler
(C) Voltage tripler

(C) Nore of the ahoye
G98\R
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-2
SEEEUL
- f '--:"": :

(D) =1 & PE A
3. vE oy zwte @ :

—DF

v 4 "\-""" |
T 1 v

- -y

GEvm | 70

(A) of win dRH AR 4
(B) uge AA ZAF
(C) desn fue

(D) TT0% § | *¢ qf
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34. Fgureshows the cirrioit af cammon ja, {ox vm Su= FERL qAES 2efey
Cullector smolifer. Whrre n, =2 ke, T h -2 k. h=-51, 0 -1 iR
h =-531 A =1 3rc W =25%20" N =510 mbos  OTW TR T
Mmook, find nut Corrent Gain?
(A) A=4%3 -
I D =6, 54
(B) A=6.54 8) A=6.5
[() ’.I:?:;’.“; ((_.J Al_-—20¢‘25 ‘
(D) Mone of these (D) Fwder 2 e =t
For a transistor. the h_ parameter 35, TrARR S Yar h, PRI ww= &
'i l-lf.’ ;;I‘-r:' ES I:A:l Brh ':51’ B’r
(A) B B B
e .
(C) a, (D) (<1 a, (B) r,
In a phase shift ascil'atar (R-C 0s- 36 vE Ten famatm A% (R-C AfF3n R}
cillator), the condition for sustained veerr A W wd A 2 (7 R= wen
HE( I,t 207 1= :'.‘."'l" 1 o ] reisranre - -
Ch i} ) arg o are Fe dsms u—jgﬂmtlhtzcls‘wﬂ
of phase shift section, . = wrgard
current can in CC mode, R =10ad = AULTIO M, R = F13 0l
Resictance)
1 R
. A hn,_"?3'29‘—n—1‘4'l'
- o R ! Ly
(A) T TEs el R l '
R R gy Ne - 56 2901 a5k
rer h 56 .29 ., 4" 2 R. R
(B} R R
R
F &) ~y - 46 - 29 — « E'
~y Ny, 444 29 4 - (L) R
Wi/ R f
R R
- - . R . - 29"  4-%
0y e =23 395. va= 0y M =23 g 'R
[11] PI“.OI

698\R
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37. Atrensistoris sad o be i 4 quies:
cent state vihen: "
(A} Misunbiasad
(B) No current flows rhrough it
{C) No signal s npplied to the in-
pul
{D} Emiter junctiyn is just diased
eouzl to collector function
I8, Ripple factur of 3 Half wave and full
wavo rectifier are respectivaly:
(A} 1.21 and 0.48
(B) .48 ana 1.21
(C) 6.81 anc 1.21
(D) Ncne of these
39. m-section filter consists of:
(A} Capeacitor oniy
(B) Inductor oniy
(C) Capacitor and Induetion butn
{0} None of the zbove
40. Three amplificr states, each of gain
5 50, are cascaded the over all gain
will be:
(A} 50
(&) 15¢
(C)} 125000

(D) None of these

698\R
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38.

i9.

[12]

40.

_________

9 o
P
.....

(A} .21 ¥R 0.48
(B) 043 3R 124
(C) o.81 ¥ 121
(D) 77 ¥ & o W
n-deed ferer 3 e &
(A) Fuity ¥ae

(B) UM Faw

(Cy wients SR dreor 2t A
(0) e % hé TH
freedin vantm &, 5w T v 50 Bl
wder {3 &1 gl o 2w

(A) 50 e

D 1

JONeTULI M A A

b

(B) 150
(C) 125000
(D) JwNw 7 4 @ 4
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41. The phola transistar has! S

(A} & muzh lower level of nuisa
than pholo dinde

(8} a much higher level of nolse
than 2hcto diodae

(C) egual (evel of noise that of a

photo dinde

{0 Hore of those

-
N

. Fur an FET the correct relation is,
where u v a amplification facter, ¢,
is arain rosistance 2nd g, s mutual

conduectance

[A} u:t_.)-l:g_‘
(B} r=pixg,

‘8 r=nrg.

(G g, =1 =p (€2 g, =rgxn

() w-* (o) n=gt |

43, Atrarsistor can be used as: 43, B (iR WO fear 3T Faw
{n) Anampliticr ; (M wmhm
(o it 8) s maB T
(C) A wvoltzge requiator () o W S il
(D} Both (A} end (B} (o) 2% ) oA B

G98\R (13]
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fe:

) "
(@) G?

{Cj

o—@i ?-—o
(D)

45, Acransister s mainty:
{A) Power operated device
(B} Voltage cperated devies
{C) Current vperated device
{0) Resistanee operated cevie
46. The'barrier potental’ of germanium SEALSLLE fe
diode i approximately: |
(R} 0.1 Voit
(B) 0.5 Volt
(C) C.3 Velt

(C) 0.7 Volt

698\R [14]
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48,

LR

698\R [15]

. Shockley's aquutbwml";ﬂtlla fu
rent fu FRT Bs ¢ (where T,= m
current, V., «Drain to source volt-

age, V, -Finch of wvoeltage,
1,..=Satoration drain current)

(2 -l |1 %]

Vi
(8) la"ﬁssfl' v‘?’)

(c; L - L:ﬁsll ‘h\

vV, ) ;

i/ "’

(0) lu-lnssll" X
\ L

Which of the fol'lowing behaves as
n inswator;

‘A Oiamond

(3 Germanium

1C) Siflcon

(D} Silver ) B

At zero gegree kelvin, @ piece of 49. o il Bl w, weRfine

German um:

(A) Becomes semiconductor
{B) Becomas good conductor
(C) Becomes perfect insulator

(D) Has maxiomum conductivity

https://www.rmlauonline.com
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Al Ge
(R) Si
{o
(C) s
51. In n-lype semiconcuctor the ma-
Jocity charge carries are:
(A} Heles
{(B) protons
(C) Hiectrons
(D) Neutrons
52. When a pure semiconductar Is

51.

heated, its resistance:
(A} Decrezses
(B} Increases
(C) Remain the same
(D} Mone of the abgove
53. At room tempersture, an intringc

siicon crystal acls approximately

a5:

(A) A batrery

(B) A conductor {8) "o D

(€) Aninsulation (C) Ty

(D) A piece of Cu wire (D) T AR & v gad
o

698\R [16]
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54, Atorwand bisseq p junckioh Fis
resistance of the:
{8] Order of 0
(B8) Order of Ko
(C) Crder of MO
{) Nonoe of these
55, I the depletion region of a pr june-
tor, there e o shortage of -
(A Afeptor ons
(B) toles and wlectrons
(C) Donwr gns
(0} Nore of these
56. A pn function acts an @ -ceemeee-,
{A) Controtied switch
(B) Bidirectional switch

{C) Umdirectional swntch

WO suIfuoONejWwI Mam//:sdny

(o) mnwﬂ -
57. With furward Sigs to pn tunctior, 57, &mﬂﬁubmm’i el

(D) Nomne of the ebove

the width of depletion ayer: sy & Wy e

(A} Decreases (A) =@

(%) hcrea es t (®) @gh i

(C) Remains the same (C) Wwhi

(D) None of these (D) g=d F & 7
GI9B\R [17]
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54, Hni: tactor of a Mm nﬁtl-
ﬂeris'
(A} 0.4%
(8) 0.1
(C) 1.2
o) 0.23

9. In o half wave recsifier 1 s given
by:

b
(A} 2x
(B) 2

() 2],

® i

60. x-secbon filter consist of;
(&) Capacitor aniy
(B8} Inductance only

(CY Capacitor ard Inductance

WO suIfuoONejWI Mam //:sdny

both
{C} None of the above
61. How many diodes are used in o

bridge rectif.or?

(A 1

(8) 2

(C) 3

(D) 4

S98\R
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59. W

(18]

61

n-dewr e #§ g &

4

(A} du@ HreT
(B) 7@ &
(cy a@ufiz g s O

(D) HIW A A B¢ W
aqﬂtca-srﬁﬁﬁmﬁsrahwgmﬂ

.oy E-

WO QUIUONBWL MMM //:Sd

ey o
- T AT 8

o
I s
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62. Thenurbor of doplesian ayersing
fransistor ‘s: .
{A) Four
8} Two
(C) One
(D} Three

63. The base of a Uansistor is doped

(A} Lightly
(B) Heavily

4

(C) Moderotely
(D) None of the above
64. In a transistor, which one it largest
™ sire:
(&) Eritter

[B) Base

WO QUI[UONBWL MMM //:Sd

() Collector

65. ¢freet & Prda it r?;,;ji.

(D) Ailare cque!

65 The input impedance vt o transis- -

b

foris: (A) T=
(A) High . ®)
(B] Low -
{C} Tnfinite (©)
(D) Zero (D) W=
698\R [19]
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6. M conduction of cuent i B
transistor Is due to:

(A Holes
{8} BEectrons
(C} Both

(O) None of these
67. In 3 pransister circuit, T, is 1.0 mA 67
and lt i€ 0.9 ma, them I’ i

(A 1.0 mA
(8] 0.9 ma
{(C} 0.1 mA
(D} 1.9 mA

83, If the doping level of a crystal di- 68.

ode is increased,

{A) Isincreasad

{B) s decreased

{C) Remains the same
(D) None of the above

69, -~ = rectitier has the ‘owest for-

warg resistanca.

(A) Solid-state

(B} Vacuum tube

(C) Gas-lube

(D} Kone of these
698\R

4

the breakdowan

W02 QUI[UONB[WI MMM //:S(

(D) I § § = 78
69 mmmmm

&

(A) B4 T

() faata Ffam

(Cy =

(D) ¥ A o 7@

o

[20]
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79. In a transister. 1 =100 mA and

80.

(B} Less than 1
{C) 1
(C) None af the above

l"lO‘D.S mA. The mﬁﬂ is ——y

{A) 100

{B) SO

{C) About 1

(D) 200

The relation between ff and o is :

The most common'y used transis-
00 arrangement 5 ----.o-en ar-
rangemend,

(A) CE

(8) CB

{C)y CC

(D} None of these

G98\R
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82. The vaitsege ¢ain of a transistor 82. TAT WTRE ATTAT *iz*ﬁl’-mi“-'l‘-.'ﬂ !

conected in comnmon collector 2r- e MM e F
'ﬂ"lgerllf.'.‘l"lf - L LI i;\) W t- m
‘Al Fqual th ] 8 10 g

(3) More than 1L

(Cy 100 ¥ 395

{C) More ther 100

(D} Less than 1 (D) TF 4 ¥
83, Tho point of intersecticn ot ¢e und 83. vt 7R Gw wx T TR &2‘
o fwad Une repreésents: I Gial -
(A} Operating pa'nt (A) Y& ﬁ?_'
- F o s‘
(b} Curmrent gain (8) W @ %
w
{C) Voltage ¢ain (C) TR T =
=
(D} Power gaitt '-.D:? e T é
84. Transistor biasing is gererally oro- B4, #rarzrm e amfér v Sem 5
vided by 14 g
' S
(A} Blasing circuit ) TaEn ROy § =3
T
(B) Bize butteny By A R g
{C)y Dioge (L) &0+ = E
(C] Nong af the above (D) T a ¥ & =2
t'ftﬁ I'I A a'?'.l_'!Lfl Pradp ”'l ¥ '. Canactor 83 L ‘.'L."—'f-f\ J‘I_ ?!‘:-”l' Fmﬁ:‘ ﬂn '::l"

15 userd i TS BT IS | &

(&) el ¥ em 2
‘?) S {1 e i = et AT

{A) Meatch the immpedances

(B} Pruvenl dc mixing with output

21
(C) Cantrol frequency (C) wgia fAzor 3
(D} Mane of the above D) A E R PE A4
GIB\R [24]

https://www.rmlauonline.com



Wod duIjuonejuI Mmm //:sdiy

https://www.rmlauonline.com

E€. Negatve feecbick in an armphter - 86. T Wtfm ¥ Ao Trd ¢AROT e

-

(AY e aca &

(A) Ceurcasws e gaie
(B) P A1 &
(R} Intreases the gain

b

(C; Staviizes the ga.n (C) ors B pofe= 2T T
(C) Nooe of trose (D) E-“fﬂ'ﬂ ﬂ:ﬁ?

87. The vollage galn of 2n amplifier 87. %Tﬂtl?‘m"?ﬁ:mu o T AR

without fecdback is 200. When a "
200 ¥l Ad FOG 9T W [=0.05 A

FOTHD TRV (TR AN 8 Y e -

negative feedback with B=0.05 i

applied To its Input, the gain be-

COMEE —- mmeee, T @ e
(a) 18 1Ay 8
(B} 1.8 \8) .8
(C) 0.18 ‘C) 018
(D) 180 (DY 180

88. Barkhausen criteclon for sustained 85. Ty o % v oS i
DSCIAtion is: g
‘A) BA=-1 (A A==t
(B} fa=1 (2, |tA=1
(C) PA=0O (€Y PA-0
‘D) fa=2 ‘DY PA=Z

84, RC coupling 15 Leed for -=--- - w-- BU. REC s 9T AR e P pd
mplification. v
(A t-ora;;u Ay Aol
(8] Current (B) M
(C) Power (Q)
(D) Wone of these (L} ¢t ¥ B A

698\ R [25) P.T.0.
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Q0. Tn e phase shitt ascilator, we usc -
-=~+-== RC Sectiony.
(A} Twu
{B) Thres
{C) Four
(D) OUne
81. A Wien bridge Osciliator usns -aae--
fecdbavk.
{A) Only positive
(8] Only negative
{C] Both positive and negative
(13} None of these
SZ. In 4 Colpitt's ascillator, leagback 1S
abtamed ----ceee,
VA BY magnetic induinion
(B8] By atickier coi
(C} From the cerire gf aphs
capacitos

‘D) Nang af ire above

93, ---

srmees s 2 tixed (roquoengy
osCillator

(8) Phase-shift gatilator !

(8] Martley gscillator

(C) Coiptt's oscillator

(D) Crystal oscliator

698\R

=]

01‘

92.

93 . ..

s A A
(A) @

(B} #=

o) =
(A) FaE wAD

(B) Few WMURHES

() T & = )

e ee RG :
(C) ax

s by
(C) weTs aa TR ol

wefic 4P 8, ko v AT R

x5 . g
.g

/

(N T IR
'8) F=et g @

(C) TWiEs Uy B e A

WO UIUONB[WI MMM/,

(D) 3¢ares 4 & w9

s frar agfa & S
Y

(A) FA-meTe AT

18y ele dem

(¢} ol afm

() fEew At
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4. thie gete woiFsge In S IAET 3twhiEN
dmln-'-t;u_rrtnb Beromes Zero. is
B — " L
{h) Active
(B} Saturation

(T} Cut-off
(D) Pinch-off
G9. A certain D-MOSFET is biased ot 99.
V. = 0 V. Its data sheet specifies
fee=20 mA ang W, ==-5V. The
value of gdraln cument is -. ...
{A} 20 mA
{(8) 0mA

(C) 40 ma

WO duIfuoONBWI MaM //:sdny

() 10 ma

108.An n-channel D-MOSFET witn a

positive V.. is operating in .- WY - wd w2
(4) The depletion moge (A) e 2 i
(B) The cnhancciment made (&) m'ﬁﬁ
(C) Cut off {(C) ®2 7m5 i N
(D) Saturation (D) Wya

IR (28]
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